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28. If 1 man or 2 women or 4 boys can do a piece of work in 20 days. Then 1 man, 1 woman 
and 1 boy, working together can do it in-
यदि 1 पुरुष या 2 मदिलाएं या 4 लड़के दकसीकायय को 20 दिनो ं में कर सकते िैं। दिर 1 पुरुष, 1 
मदिलाऔर 1 लड़का, एकसाथकामकरते हुए इसे करसकते िैं-
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(A) 4% (B)3% (C)2% (D)1.5% (E)None

E04613

29 . In respect of a bill of Rs. 40000 what is the difference between a discount of 36% and 
two successive discounts of 25% and 12%?
40000 रुपये के दिल के संिंध में 36% की छूटऔर 25% और 12% की िो क्रदमक छूटो ं के िीच
अंतरक्या िै?
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(A)56 days (B)48 days (C)64 days (D)72 days (E)None

E04613

30 . P is thrice as good a workman as Q . They together can do a job in 16 days, In how 
many days will Q finish the work? 
P, Q से तीन गुना अच्छाकामकरने वाला िै। वे एकसाथ एककामको 16 दिनो ं में कर सकते िैं, Q 
कामको दकतने दिनो ं में पूरा करेगा?
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(A)1560 loss (B) 1560 profit (C)1550 loss (D) 1550 profit (E)None

E04613

31 . Rekha bought an article in Rs. 62000 and sold it at 25 percent loss. From this amount 
she bought another article and sold it at 30 percent profit. What is her total profit/loss?
रेखा ने एक वसु्तको 62000 रुपये में खरीिाऔरउसे 25 प्रदतशत िादन पर िेच दिया। इस रादश से
उसने एकऔरवसु्तखरीिीऔरउसे 30 प्रदतशतलाभ पर िेच दिया। उसका कुललाभ/िादनक्या
िै?
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(A) 3:4 (B) 4: 3 (C) 9: 11 (D)11: 9 (E)None

E04613

32 . The cost of a table and chair in the ratio 5 : 7. If the cost of chair and table is increased 
by 10% and 20% respectively then what will be the new ratio respectively?
एक मेजऔर कुसीका मूल्य 5 : 7 के अनुपात में िै। यदि कुसीऔर मेजकी लागत में क्रमशः 10% 
और 20% की वृद्धिकी जाती िै, तोक्रमशः नया अनुपातक्या िोगा?
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Q.26:- I. 12x² + 7x + 1 = 0 II. 2y² + 3y + 1 = 0

(a) If x = y or no relation can be established 

(b) If x > y 

(c) If x < y 

(d) If x ≥ y 

(e) If x ≤ y
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Q.27:- I. x2 + 3x+ 2 = 0 II. y2 + 5y+ 6 =0

(a) If x = y or no relation can be established 

(b) If x > y 

(c) If x < y 

(d) If x ≥ y 

(e) If x ≤ y
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Q.28:- I. 15x2 – 16x + 4 = 0 II. 6y2 − 25y− 25=0

(a) If x = y or no relation can be established 

(b) If x > y 

(c) If x < y 

(d) If x ≥ y 

(e) If x ≤ y
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Q.29:- I. 2x2 − 5x – 3 = 0 II. 4y2− 20𝑦 + 21 =0

(a) If x = y or no relation can be established 

(b) If x > y 

(c) If x < y 

(d) If x ≥ y 

(e) If x ≤ y
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Q.30:- I. x² = 9 II. 𝒚𝟐= 4

(a) If x = y or no relation can be established 

(b) If x > y 

(c) If x < y 

(d) If x ≥ y 

(e) If x ≤ y
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Directions (Q. 31-35):-Read the following graph carefully and answer the questions 

given below- Number of factories of various industries in India and China

दनम्नदलद्धखत ग्राि को ध्यानपूवयक पद़िएऔर नीचे दिए गए प्रश्ो ं के उत्तर िीदजए-भारतऔर

चीन में दवदभन्न उद्योगो ं के कारखानो ंकी संख्या
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(A) 20 (B) 16 (C) 12 (D)8 (E)24

E04613

31. The number of Sugar industries in India is approximately what percentage of the total 
number of all industries in the same country?
भारत में चीनी उद्योगो ंकी संख्या एक िी िेश में सभी उद्योगो ंकी कुल संख्याका लगभग दकतना
प्रदतशत िै?
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(A)62 (B)70 (C)73 (D)59 (E)67

E04613

32. The number of cotton industries in China is approximately what percentage of the total 
number of cement industries in India?
चीन में कपासउद्योगो ंकी संख्या भारत में सीमेंट उद्योगो ंकी कुल संख्याका लगभग दकतना
प्रदतशत िै?
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(A)5 tones (B) 8 tones (C) 11 tones (D)7 tones (E)None

E04613

33. If production of cement in India is 27000 tonnes and that in China is 15000 tonnes, what 
is the difference between their productivity (Productivity = Production/number of 
industries)? 
यदि भारत में सीमेंट का उत्पािन 27000 टन िैऔरचीन में 15000 टन िै, तो उनकी उत्पािकता
(उत्पािकता = उत्पािन/उद्योगो ंकी संख्या) के िीचक्या अंतर िै?
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(A)250 (B)150 (C)50 (D)75 (E)175
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34. What is the difference between total industries in India and China?

भारतऔरचीन के कुल उद्योगो ं में क्या अंतर िै?
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(A) 3:2 (B)2:3 (C)1:1 (D)2:1 (E) 1:2

E04613

35. If ratio of production of steel in India and China is 3 : 5 and production of steel in China 
is 1500 tones, what is the respective ratio of productivity of steel in India and China 
(Productivity = Production/number of industries)?
यदि भारतऔरचीन में इस्पात के उत्पािनकाअनुपात 3:5 िै और चीन में इस्पातका उत्पािन
1500 टन िै, तो भारतऔरचीन में इस्पातकी उत्पािकताका संिंदधतअनुपातक्या िै (उत्पािकता
= उत्पािन/उद्योगो ंकी संख्या)?
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What value should come in the place of question mark(?)in the following questions?

1944 ÷ 27 of 3 +√ 81= ?

(A) 31 (B)33 (C) 37 (D)43 (E) None of these
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What value should come in the place of question mark(?)in the following questions?

632 + √ 1369 × 120 ÷ 3 = ?

(A)2132 (B)2112 (C) 2116 (D)2122 (E) None of these
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What value should come in the place of question mark(?)in the following questions?

234 + √ 784 + 48² ÷ 4 = ?

(A)838 (B)868 (C)848 (D)828 (E) None of these
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What value should come in the place of question mark(?)in the following questions?

(√3136 + 44 ) ÷ 25 × 16 = x²

(A)9 (B)4096 (C) 8 (D)64 (E) None of these
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What value should come in the place of question mark(?)in the following questions?

³√ 13824 × 26 + 326 −√ 676 = ?

(A) 921 (B)924 (C)934 (D)914 (E) None of these
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What value should come in the place of question mark(?)in the following questions?

16 × 18 + 428 ÷ 4 × 103 = ?

(A)11306 (B)10309 (C)11309 (D)12319 (E) None of these
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What value should come in the place of question mark(?)in the following questions?

(848 ÷ 16 )² + 34×36 − 224 = ?

(A) 3811 (B)3809 (C)3807 (D)3819 (E) None of these
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What value should come in the place of question mark(?)in the following questions?

1225 ÷ 25 + 17³ − 31² = ?

(A)4001 (B) 4011 (C)4111 (D)4211 (E) None of these
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What value should come in the place of question mark(?)in the following questions?

324 ÷ 9 × 34+ 276 = ?× 15

(A)150 (B)100 (C) 200 (D)250 (E) None of these
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What value should come in the place of question mark(?)in the following questions?

231.41 + 423.11+ 532.53 − 245.54+ 134.12 = ?

(A)1087.36 (B)1083.63 (C) 1074.63 (D)1075.63 (E) None of these
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What should come at place of the question mark (?) in the following number series ?

200 , 193 , 179 , 158 , ? , 95

(A)135 (B)133 (C)132 (D)130 (E)128
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What should come at place of the question mark (?) in the following number series ?

3 , 43 , 81 , 115 , 143 ,  ?

(A)163 (B)172 (C)166 (D)160 (E) 168
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What should come at place of the question mark (?) in the following number series ?

1 , 6 , 25 , 76 , 153 , ?

(A)152 (B)154 (C)153 (D)155 (E) 156
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What should come at place of the question mark (?) in the following number series ?

50 , 54 , 45 , 61 , 36 , ? 

(A)66 (B)72 (C)75 (D)80 (E)84
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What should come at place of the question mark (?) in the following number series ?

9 , 45 , 180 , 540 , ? , 1080

(A)720 (B)900 (C)1080 (D)1200 (E) 960
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(A)240 (B)320 (C) 325 (D) 340 (E)275

E04613

26 . Ten students are planning to go on a picnic. If five more students have gone total 
expenditure would have increased by 1000 Rs. but per head average expenditure would 
decreased by Rs. 80. Find per head expenditure if 20 students have gone for picnic.
िसछात्र दपकदनकपरजाने की योजना िना रिे िैं। यदि पााँचऔर दवद्याथी चले जाते तो कुलव्यय
में 1000 रुपये की वृद्धि िोती लेदकन प्रदतव्यद्धिऔसतव्ययमें 80रुपये कीकमी िोती यदि 20
छात्र दपकदनकपर गए िैं तो प्रदतव्यद्धिव्ययज्ञातकीदजए।
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(A)15000 (B) 20000 (C) 12500 (D)15600 (E)None

E04613

27 . A shopkeeper get a profit of 30% by selling a watch. If the shopkeeper buy the watch at 
10% less than its price and sells it at 10% less than its selling price. The difference in the 
profit he makes is 432 Rs. Find the cost price of the watch ? 
एक िुकानिारको एकघड़ी िेचने पर 30% का लाभ प्राप्तिोता िै। यदि िुकानिार घड़ीको उसके
मूल्य से 10% कमपरखरीिता िैऔरउसे उसके दवक्रय मूल्य से 10% कमपर िेचता िै। उसके
द्वारा अदजयत लाभका अंतर 432रु िै, घड़ीकाक्रय मूल्यज्ञातकीदजए?
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28 . A person leaves a place P to place Q at 8 a.m. and reaches place Q at 12 p.m. Another 
person leaves Q at 09:30 am. and reaches P at 01 pm. They will meet each other at
एकव्यद्धिस्थान P सेQ को स्थान िेने के दलए प्रातः 8 िजे छोड़ता िैऔर स्थानQ परअपराह्न 12 
िजे पहुाँचता िै। एकअन्यव्यद्धिQ को सुिि 09:30 िजे छोड़ता िै।और िोपिर 01 िजे P पर
पहुाँचता िै। वे एक िूसरे से दमलेंगे

(A) 11.40A.M. (B)10.20A.M. (C)11.20A.M. (D)10.40A.M (E) None of these
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29 . 3 men and 5 women can do a piece of work in 15 days whereas 3women and 5 men can 
complete the same work in 10 days. Find in how many days 4 man and 4 women together 
can complete this work ? 

3 पुरुषऔर 5 मदिलाएं एककामको 15 दिनो ं में कर सकते िैं जिदक 3 मदिलाएंऔर 5 पुरुष उसी
कामको 10 दिनो ं में पूरा कर सकते िैं. ज्ञातकीदजए दक 4 पुरुषऔर 4 मदिलाएाँ दमलकर इसकायय
को दकतने दिनो ं में पूरा कर सकते िैं?

(A) 15 (B)8 (C)12 (D)9 (E) None of these
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30 . In box A ratio of milk and water is 3 : 1 and in box B ratio of milk and water is 3 : 5. When both 
box are mixed together ratio of milk and water becomes 5 : 3. Find the ratio of volume of box A and 
box B respectively.
बॉक्स A में दधू और पानी का अनुपात 3: 1 है और बॉक्स B में दधू और पानी का अनुपात 3: 
5 है। जब दोनों बॉक्स को एक साथ ममलाया जाता है तो दधू और पानी का अनुपात 5: 3 हो 
जाता है।क्रमशः बॉक्स A और बॉक्स B के आयतन का अनुपात ज्ञात कीजजए।

(A) 3:1 (B)2:1 (C)3:2 (D)2:3 (E) None of these
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